Thythorn Field Calculation Policy - Division

Progression in Calculations

Sharing objects into groups

CONCRETE

PICTORAL

ABSTRACT

6 shared between 2

(other concrete objects can also be used e.g.
children and hoops, teddy bears, cakes and
plates)

Thiz can alzo be done in a bar so all 4 operations

6+2=3

What's the calculation?
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Understand division as repeated grouping and subtracting
CONCRETE PICTORAL ABSTRACT
Divide quantities into equal groups. Abstract number line
Use cubes, counters, objects or place value 2 -2 -2
counters to aid understanding. -
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Division with Arrays

CONCRETE

PICTORAL

ABSTRACT

Link division to multiplication by creating an
array and thinking about the number sentences
that can be created. ".

L

Draw an array and use lines to split the array into

groups to make multiplication and division sentence

XXX X

Find the inverse of multiplication and
Sdivision sentences by creating four linking
number sentences.

; -, 7x4=28
eg.15:3=5 L. X K B X . Ax7 o8
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5x3=15 O Q O L O 28+7=4
15+5=3
3x5=15 28+4=7
Division with remainders
CONCRETE PICTORAL ABSTRACT
Divide objects between groups and see how much 13 + 4 =3 remainder 1
is left over. — — —
Use of !OH.ipOp sticks to form wholes:-13 + 4 = l | | | ) | | Children to count their times table facts in
— — e their heads.
=} -4 -y -
Use of Cuisenaire rods and rulers (using repeated e A T . e =+ =4
subtraction) ele]eloleleleleole]ele] | 5 q |
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Division using 2 digit by 1 digit
CONCRETE PICTORAL ABSTRACT
Using Base 10 (no remainders) Children to represent the base 10 and sharing 48 = 4 =

48+3=14

Start with the tens.

pictorially.

4 tens + 4= 1 ten
B ones = 4 = 2 ones

10+2=12
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Sharing using place value counters
CONCRETE PICTORAL ABSTRACT
42 +3
a2 ARAV, LB )
@ @@ | 1 Make42. Share the 4 ° 42=30+12
tens between 3. Can we ® \-‘ L ] ‘
(0] make an exchange with 30+3=10
% the extra 107 ® e oo
® 9o 00 12+3=4
~ Exchange the ten for
8 m 10 ones and share out e 0o 10+4=14
QO leeee]| 2o ]
Bus stop method
CONCRETE PICTORAL ABSTRACT

Use of the ‘bus stop method’ using grouping and
counters. Key language for grouping- how many
groups of X can we make with X hundreds’- this
can also be done using sharing! 615 + 5
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=] L] g

22 S 223 Step 4 exchange 1T for
= Lo, tes| 10gnes and circles groups
23 |Te of 5

This can easily be represented pictorially, till
the children no longer to do it. It can also be
done to decimal places if you have a
remainder!
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Long Division

LT, 1 ® 0 EXChGﬂg€ te
réi}nge‘r,gg. e 12[254a one hundred
%%?r: <§,«: ° 24 for ten tens so
068 SS 14
bess Be 12 now we have 14

7 tens. How many
groups of 12 are in 14? 1 remainder 2.
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Exchange the two tens for
twenty ones so now we have
24 ones. How many groups
of 12 are in 24? 2
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CONCRETE PICTORAL ABSTRACT
- . 2544:12 Children to represent the Step one- exchange 2
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e0cc 00 o8 ”E How many groups of | counters, p|§tor|ally and record 15(3522 :-u c-usur:bd f:r iﬂgﬁundrads
go 00 o® i 12thousandsdowe | the subtractions beneath. | WE oW
2 have? None hundreds.
LD

. me  Exchange 2 thousand for Step two- How Maty grotps

?E%ie G‘g: : 20 hundreds. ; of 12 can I make with 25

8880 o @ 12| 2544  hundreds? The 24 shows the
BEE S 24 hundreds we hove grouped.
0080 o . _
1 The one is how many
s , How many groups of

Geso Soee 122548 12 :re in zg w uncreds we have [eft

o0 "% 2 hundreds? 2 groups. Exchange: the ane hundred

©8ea . 1 Circle them 1}| 44 far 10 'rerls: Haw Fnany
We have grouped 24 hundreds so can take HT groups af 12 son T make
them of f and we are left with one. 17 with 14 tens?

] The 14 shaws how mary tens

grouped and the 2 is how many tens T have

left.
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Exchange the £ tens for 20
cres. The 24 s how many ones
I have grauped and the O is
whot T howe Lt
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